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The path of the skiers center of mass.





The path of the skis down the hill.





The 90° symbol represents the geometric relationship between a line that intersects the two hip joints of the skier and a line that is tangent to the direction of travel of the skiers center of mass. 
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The path down the hill of the skiers center of mass.





The path down the hill of the skis.





The 90° symbol represents the geometric relationship between a line that intersects the two hip joints of the skier and the direction of travel of the skiers center of mass. 
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This symbol represent the skiers pelvis with its two hip joints.
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This symbol represent the skiers pelvis with its two hip joints.





The shaded red areas are points where the flow of the center of mass is altered from a continuous downward movement to or from a static horizontal movement. 





All four edges of the skis are contacting the snow.





The path down the hill of the skiers center of mass.





The path down the hill of the skiers skis.





The 90° symbol represents the geometric relationship between a line that intersects the two hip joints of the skier and a line that is tangent to the direction of travel of the skiers center of mass. 
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This symbol represent the skiers pelvis with its two hip joints.








